
 

Sidecover Set
BMW R1150GS Adventure

 
June 2002

Parts included: 
1 x side cover set
2 x support angles
2 x bolts hex M6x30
2 x washers M6

01-040-2681-0
01-040-2682-0

Assembly:
Attach first the two enclosed support angles for the
side covers. These are screwed on under the screws of the grab rail
attachment. The locking pin of the support angle must point forward.
You must align the placement of  the support angle with the elongated holes.
Set the side cover in place. This is pushed first in the back onto the locking pin
and bolted in front with a bolt hex M6x30 with washer M6. Tighten the 
screw carefully, since the side cover is made of plastic 
and flexible. Finally you can replace your seat.
. 

Preparation:
Remove the seat of the BMWS R1150GS Adventure. Plan to assemble one
side at a time. Unscrew one bolt of the mount of the electrical box 
(see also illustration below, the later position of the side cover).
Note that if both sides are released electrical box could slip. Also the
following assembly of the support angles should be performed one side at
a time. The grab rail will be completely removed if both sides are done at once. 

TOURATECHTOURATECH
TOU R A TECHRING   ALLYE   R CING    NOLOGY

This guidance is written after our present level of knowledge.   Legal requirements on correctness do not exist.   Technical subject to change.   


	Seite1

